4

14/ B. Sc. (Part-T), Chemistry 2015

B. Sc. (Part-I) CHEMISTRY, 2015

T.3H. Inorganic Chemistry-I  First Paper M. M. 50

-3 1.0,,0,,0.79 O, %! 5gd gu a4 %A § aRad Hif | :

Arrange O,, O, , 0, and O, in the increasing order of bond order.

2. STEEARS T g U 1 €Y TraT ST 8 ¢ g9 a9y |

Which type of bond is present in Diborane ? Draw its structure also.

3. ST Sl sl U Hifeie | Define Lattice energy.

4. el NaCl & Na'q CT 3T st T S 341 & 2. 56! B s
1 ¥d3Y | What is the value of coordination number of Na"and CT ions in
crystalline NaCl. Give its radius ratio ? |

5. 81X & &7 T STt T AT e (e R @ 7 I e agen B
Tl o T G I SR [ TaE | T

Write General electronic configuration of Alkali_and Alkaline earth
metal. Give name of alkaline earth metal with their configuration.

6. =T Tt & ST B S Ted 5 H e HRY -
Arrange the following element in increasing order ofionic radii :
Li,K,Rb,Cs, Na.

7. fafThe B el 5 71 & ¢ RAeiihe % S & T Sy |

What is the basic unit of Silicate ? Name the types of Silicate.

8. TEEIS & [ oTerdTES & T fafeg . NO,N,0,NO,,N,0..

Name the following oxides of nitrogen : NO,N,0,NO,, N,O..

0. el e g &RE 1 Define solubility product.

10. T &1 TeTeh o 1 & T e | |

Give name and formula of four interfering radicals. S ,

a7 () 768 - L /(o) ST S wRg S e ¥ P e R
SfErd 3T & Y HHERD What are the limitation of velence bond theory ?
Describe following hybridization with suitable examples: _

(i) dgp2 (11) sde ’ | . 3gar / OR

@) OfNsd H % R aToae e e Sy | = SEERT O B
an a"ﬁfﬁﬂ qe gy | Draw molecular orbital diagram of O,N, and H,.
Alsoucalculate Bond order and show therr magnetic behaviour.

—H.z.(a)amwaw%?%wm@%ﬂmwm%?
amsqwéamﬁ%wﬁA*B‘ﬁagWW%mﬁmﬂwwmgzs

grar & | What is radius ratio ? How it is related to coordination number ?
al e . I

' he radius ratio for tetrahedral structure of an ionic compound A B 18
Show thera ‘ argar /OR

275. | . .

-Mﬁ(a)x{ﬂ’s‘ﬁ@ it : (i) BaSO, gt & quemﬁa%aalrﬁ MgSO, geFeiia |
ol werd & srafh CuCl HEET |
(?T?,'jﬂwﬁqﬁﬁaﬂaﬁmﬁaaﬁnm@w G @f?ﬁqé‘m%l |
el . - (i) BaSO, is insoluble in walcr while MgSQO, 1s

Y\ Fw a1 \Vh . .\ p PRy e
(B) r‘,'.‘)pll\cjl,l:]cl ]-Syi'onic compound while CuCl is covalent. (iii) Boiling
soluble. (11) 1¥¢
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pointoforthonitrophenol is lower than that of meta and para nitrophénol.

§H1E -1 3. (37) (i) 18T : (a) QA= &1 TEEMNE G9eT

(b) FH= & warT 1 (ii) I 9w feooit fefe |

(A) (i) Give : (a) Chemical composition of cement _

(b) Type of cement.  (ii) Write short note on Lime. 3941/ OR

() TEe 4 : (i) @ § SR QA 9 9 e B Il 8 U KA
T Na® %9 2 1 (ii) & gar angeit & fadia e (4 & A g 9 affes

I E 1 4 ? (i) iy oToesd © |

' (B) Explain why : (i) Density increases from top to bottom in a group but
‘density of K is less then that of Na. (ii) Why the value of second

lonisation potential of alkaline earth metal is more than that of first
lonization potential ? (iii) Liis strongest reducing agent.

T -IV. 4. (31) TEgeM & AfEwer @ feem = gl & R w

B : (i) ARBIHT B TBT (i) Dfreieser @t faftrr (jii) AFTbEBT # e
" (A) Discuss fixation of nitrogen on the basis of : (i) Type of fixation

(ii) Method of fixation (iii) Importance of fixation. Sgar /OR

() GHET : (i) CO, T ¥ w7afh Si0, 3 1 (i) SiCl, & oit SIyged e e
ARBT CCLH 718 1 (iii) Pb™ 1 Tt qaref & e Pb et o | |

(B) Explain why : (i) CO, is a gas while SiO; is a solid. (ii) SiCl, gets
hydrolysed but CCl,does not. - : . :

(iii) Why Pb"*form more stable compound than Pb ™" ?

T - V. 5. (3N 4 TaH S (1) SO, H Juffy § CO™,

(ii) I @ SuRafe § Br (iii) NO, @i Iufafy § NO,”

(A)How can you identify : (i) CO™, inpresence of SO, ™ /

(ii) Br7in presence of 17(iii) NO, " in presence of NO , . oar/OR

(a)mmmw%?mwﬁs@m%ﬁuwﬁwm%?
qmw%mwﬁm%ﬁamﬁ%q%ﬁHNOﬁﬁmﬁ%?

(B) Whatis common ion effect ? What is the use of common ion effect in
third group-oftqualitative analysis 2 Why do you add HNO, before
precipating 11Trd group hydroxide ? .

a1 (i) CH,, NH, g H.O & a1ojail & gaiagfa 1 de ¥ €, 9oy T
EiE7R S i EEGLEIER i 7

(i) MOT & STeT 9T HHEET : (a) HC, 1 St €9 & € 1 (b) CO &
sespd 71 32T B 7

(i) CH,, NH; and H,0 molecules contain same number of electron but
their shape are different. Explain why ? - '

(ii) Explainon the basis of MOT : (a) Existence of HC, 1s not possible.

(b) Why the bond order ()1‘(?0}5 3 '7 B '

> e T ity feelt fafar (1 i)~ (i) s a1 fa (i) H, =4

(iii)ﬁ?ﬂ]ﬁaﬂ(iv)aﬂmw%ﬁﬁﬁwﬁml » _

Writc short notes on (any THREE) :- (i) Fajan's rule (i) sz.ondmg

(iii) vander Waal's force (iv) Solubility ofionic compound in water.
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3. (i) TA & &1 Mgy o ! = Rrgatl & SfeY ) e
(2) ST 999 (b) TATYEIG T ST+ 31 (c) g R - .
(if) WS - (a) &0 &1 STl T & 2 1 (b) Lid Mg STg wieh &
Rt 7 2 8 e R N I [T e g G gd i 8 1

(i) Explain periodic trend in properties of [A/gp. on the basis of :
(a) Ionisation potential (b) Atomic radii and ienic radii (c) Electronegativity.
(i1) Explain why : (a) Alkali metal gives flame test. |

(b) Liand Mg are placed in different group of perlodlc table but they are - °

very similar to each other in their properties.

4. 9 ) R fewfrEr ey (1)%@313‘6(11)%:1 Ef‘aucmv:a&rﬂﬁﬁ
ITAT H ST e Tert (1ih) TR ST e |

Write short notes on :- (i) Zeolite (ii) Type of glasses and raw materlal
used in their preparation (iii) Pyro and chain silicates.

5. (i) TE aTfeHe & & ¢ A g e & fag 1 | 6”‘ group H &M
SIEICISH q9g aTRrepties & T SasT | What are the group reagents ? Write name

" ofthe group reagents for the 17t 6 "oroup for the basic radical analysis.
(ii) 71 & gL o @R - (ii) Discuss the chemistry of the followmg -
(a)ﬁmwm(b)ﬂzﬁmmvﬁwwzﬁﬁﬁms@qﬁw 5 -

(a) Borax beéad test (b) Ring test for nitrates (c) Cromyl chlor ide test.
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